4

RIZFE / Product Number

AUXE -

HF %

H dimension

W-Ti&

W dimension

-

F view
A
D~fi% FILZE

D dimension  Aluminium feet

EHi2E R4L#k / Original trapezoidal head screw specification

BT =HILT—% / Technical Datall
#E{tILY / Recommended torque: 0.3N*m ~ 0.6N*m

i

Color Type

EXP/H)

Screw (P or H)

@ o

©

| P 752 / Phillips | H 7N / Hexagon-socket
414k / Color Type
25 / Code | a—+—7'Ov% / Corner block {8I#R / Frame #$173— / Top cover T5/3— / Bottom cover
SS < )L1\— / Silver < JLIN— / Silver < JLsN— / Silver < )L1\— / Silver
S B 7594 / Black < JLsN— / Silver < JLsN— / Silver < JLsN— / Silver

FERLINZ / Components

No. Z %5 / Part name #= / Pcs #ME / Material & - REWLIHE / Color-Finish
’ a—F—7Javy A TILEF L Fv X ADC12 DIN—, TZ9 - RE (RERRLE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) 4R 4 TIVSIRHI# A6063S-T5 DIV —EE (NERERILIE)
Frame Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
) H3— : 7 LR A1100P DILA—-E% (EEERLE)
Top cover Aluminium A1100P Silver*Painted (Conductive inside)
s FTh— : 7 ILSHR A1100P DIVA— BE (REERLE
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
5 FILZE A T & YaAvT L DIIN— T & T59Y
Aluminium feet Aluminium & Silicone Silver=Anodized & Black
6 EMCY—ILFA R yb 8 BB (UL94V-0) A9 9T L—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
7 B{TE X (M3 x 8) 16 % LAy
Screw (Flat head M3 - 8) Steel Nickel plated
8 ETE R (BF2M3 x 5) " E7S ST ILAYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
9 BAER (N1 KM4 x 8) 4 £ =SB /OA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

AHESLUTE T BRROEFE RS IHF B T E(RMBLET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

mn/Title
A == < o
TAKACHI] #Rt2ushFEMIE EMCS— LA WS O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ALUMINIUM CONTROL BOX
AR/ Approved 1% X]/Checked %X /Created FIF/Product number RE/Scale
AUXE88-60-43A0-0101 __
EP*E F E]”’Ff N— /Page

{ERL H /Date 2023/01/17 1/ 6




423

D view

A-A(1:85)

= =

66

B view

600+0.8

A

o

E view
(o]
b
H
g I
<
B
A view
c
©
o
S 4
o]
[se)
[Te}
S
&

B-B(1:85)

593

C view F view
— ® :
C-C(1:85)
| ﬂﬁ
553
R4/ Title

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

EMCY—ILRRYHI R
EMC SHIELDED ALUMINIUM CONTROL BOX

o]

2 /Approved #&[X/Checked X /Created

R ES A

FIF /Product number

AUXE88-60-43A0-0000

RE/Scale
1:85

YERL B /Date 2022/09/13

~R—/Page

2 /6




A {84k / A Frame

87

B {8k / B Frame

550

XM / Front side

R / Front side

80.7

3

33 33

3

L
————————————————

5 2-M3FH SR

2-M3 Countersunk

M3

¥ R*IEHEHE / Same on the other side.

]
I —

Z M / Back side

EEE&

]
I —

21 / Back side

m#/Title
BREUINTFEMTE %ﬁlmi O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved 18X/ Checked X /Created FIF /Product number RE/Scale
H88 - W600 1:85
iR ES Eaza) N—/Page
1ERLH/Date 2022/07/25 3/ 6




C fAl#x / C Frame

5 2-M3AHSR
2-M3 Countersunk

¥ R*IEHE4E / Same on the other side.

380 22.5

™

s

™

~ ~
o

: I
I

o™

XM / Front side %M / Back side
D {84k / D Frame
e
R / Front side 221 / Back side
Mm%/ Title
TAKACHI) #XaitahFElTE B O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved #&[X/Checked X /Created FIF /Product number RIE/Scale
H88 — D430 _ 13
iR E3 (320 R—/Page
1ERLH /Date 2022/07/25 4 /6




4-R14.7
s 8
; <

R / Front side

589.4

570

B#~ti% / Max dim. 553+ 0.8

8-@45

H#hti% / Max dim. 383+ 0.5

2
(o A
REE—HAI
Surface protective film side
\e o
ZEME / Back side
R4/ Title
TAKACHI] #AEHSNFEMTE Hi— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
W600 - D430 15
EP*E X 5]”*‘1‘ ~N—/Page
{ER B /Date 2022/07/26 5/ 6




419.4

589.4
570

541.4
4-R14.7 8-4.5

400
371.4

E#~Fi% / Max dim. 383+ 0.5

N 4-M4
E#~Ti% / Max dim. 553+ 0.8

R / Front side

2
ro 2\
RE—MA
Surface protective film side
\e %
ZEME / Back side
R4/ Title
TAKACHI] #R&#tshFEMTE Thri— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
W600 - D430 15
[==F )] X [523) ~R—/Page
{ER B /Date 2022/07/26 6 /6






